H & 0l & AHS B Ml A

S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
Sl 3,005,797 3,000,200 5,597
= 344,036 339,785 4,251
= 5,960 5,960 0
Al 2,655,801 2,654,455 1,346
DHOEE DIRAMHIA WS 2,775,065 2,770,814 4,251
= 344,036 339,785 4,251
L= 5,960 5,960 0
Al 2,425,069 2,425,069 0
NEAEE 34 HD 152,703 150,703 2,000
= 8,120 6,120 2,000
Al 144,583 144,583 0
A=AL|(EX) 8,120 6,120 2,000
= 8,120 6,120 2,000
101 @124H| 7,500 5,500 2,000
= 7,500 5,500 2,000
M JItI2E2 S Ex 7,500 5,500 2,000
0] ol24d| 7,500 5,500 2,000
O J=3 Z23& 5,695,040 5,6% 4,464 1,232
= 5,69% 4,464 1,232
O =5=¢ Z2& 1,154,400 1,155 616 539
= 1,155 616 539
O dL=2E Z2& 308,000 308 180 128
= 308 180 128
O LN RAES Z2& 30,560& 31 20 "
= 31 20 11
O 3oAz 2 & 310,000 310 220 0
= 310 220 0
Hetet NEZE Al WS 1,423,996 1,421,745 2,251
= 186,728 184,477 2,251
Al 1,237,268 1,237,268 0
KETHEAHEZ) 186,728 184,477 2,251
= 186,728 184,477 2,251
201 ZEH22 ] 8,891 8,784 107
= 8,891 8,784 107
01 AFR2t2ltl 8,891 8,784 107
O XETHEAALY 2EEI =2
Z2& 5,891,000 5,891 5,784 107
= 5,891 5,784 107
401 AIEHIZL 28I 6,732 6,600 132
= 6,732 6,600 132
01 AIZHI 6,732 6,600 132
O NETHEAAIY D128 =2
23 6,732,000 6,732 6,600 132
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SA: GBI
M DAMOEE QIR MHIA WS
el dEst NEEE NMHlA WS EER=E)
SA - BE - G9I(30) - NIRAY - BES ol ko o 8 o HImE2
= 6,732 6,600 132
403 AXIEHHSAH=Z01H 171,105 169,093 2,012
= 171,105 169,093 2,012
02 SISOt =22 P E A I 171,105 169,093 2,012
O XNEWEAL EAL L B 22
g3 171,105,000 171,105 169,093 2,012
= 171,105 169,093 2,012
Heas(ZelelaAt) 1,346 0 1,346
BEXE 1,346 0 1,346
SENS(ZM) 1,346 0 1,346
802 gtet=JIEt 1,346 0 1,346
01 = DExZete=a 757 0 757
O JIE2AHSEMRX(ZE A L 0l
715,840 716 0 716
O XI=2el(0IXt) 500& 1 0 1
O SAXOMAELZH (01X 9,460 10 10
O] RIETHEAAL (B g 0] XL)
29,160 30 0
02 Al - SHIEXZEHEZ 589 589
0 2022 2N EHSE SX XA (H
Zhol 9t Ofk}) 587,830 583 0 588
00 2022 2IHXIEHSE 2| AE A (
OIX}) 430 1 0 1




